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@ V24+V3< 1+ V2<V5+ 2
@ V2+ V3<Vh+V2<1+4 V2
@ 14+ V2< Y5+ V2<V2+ V3
@1+ V2< v+ VB<\5+ V2
® Vo+ V2< V2+ V3<1+ V2

B

1+ V2-(V2+ V3)=1-V3<0

L1+ V2<V2+ V3

V2+ V8- (VB+ v2) = V3-V5<0
SV2ZH VB3< VB+ V2

THEFA 1+ V2 < V2+ V3 < VB + V2 otk
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AFTHEA V3 = 1.732 V30 = 5.477 & 1§,+0.03 £} v0.003 <]

#o= v F2lolx A2?

@® 0.001732, 0.5477 @ 0.05477, 0.1732
@0.1732 , 0.056477 @ 0.5477,0.01732

® 0.1732, 0.001732

~&B

VO08 = v3x00T = B — 0.1732

10
v0.003 = V30 x 0.0001 = % = 0.05477
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O 24 @ 12 @ =10 @ =12 @124

9x2 + Ax+ 16 = (3x £ 4)% = 9x? + 24x + 16
SLA=124
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.. 299 — 2 297 99
299=—39— =99 333

whebA] 2 V3 + 2+ (-2) = V3 Itk
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@\/5+3<2«/§+«/§ @ 44+ V3<V5+4
® 2-2vV3< V5-243 @ V3+2>1+ 3
® 5-V3>-V3+2

B

@ V3+3-(2V2+ V3) =3-2V2
=v9-V8>0

S AVB4E3>2v2+ 3




8. xX?—4x-A=(x+5)(x-B) °llX A+ B 9] F2?

® 6 @ 9 ®20 @19 O

B

x® —4x—-A = x? - Bx+ 5x — 5B,
5-B=-4°]22 B=9
5B=A°C|BZ2 45=A
oA, A+ B=45+9 = 54
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® (3x-1)(x-2) @ (2x+3)(x+1)
® (3x-2)? @) @x+3)(x-1)
® (Bx+2)(x-1)

B
x—y=Az2 ¥
24(A+1)-24 =242 42424
= 2(A+4)(A-3)
=2(x-y+4)(x-y-3)
et a=2, b=1, c=-3°|th.
S22+ x-3=(2x+3)(x—-1)
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®-2

@ 2+ V3

@ -1 ® 2-13

B

2 -y +3x-3y = (x+y)(x-y) +3(x-)
= (x-y)(x+y+3)
- V3)(-2+ V3+3)
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@ -4a+2b ® —2a+2b

@—Qa ® 4a-2b

B

a<0, b>09B22a-b<0, b—a>0
V(2a-b)2+ Va2 - \/(b-a)?

=|2a-b|+|al-|b-al
—2a+b—-—a-b+a=-2a
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Da=2b=-2 D, V2+(~V2) = 0 |2 f25o0]c.
®b= V3 AT, b2 =2 0|BE a2 - b2 £ fEFo]c,
@a=09 1), ab=0o|BE felolct,

Ga=2b= A1, VB _yolmz gaiol,
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13. The A% F 310 - 12 Upiro] Woj A sk 47} opd L9

@ 2 @ 4 ® 5 @9 ® 10

B
(38-1)(3%+1)

= (3* —_1)(34 +1)(3%+1)
1

=B-1DB+1B2+1)B*+1)(3%+1)
=2X%X4x10 X% 82 x 6562
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S = (V2-1) + (V3-2) + (V- V3) + .. +

(Va+1-+n)=Vn+1-1
On=8¢m,Sn)=3-1=2

Qn=154M,Sn)=4-1=3
@n=349",5n) =6-1=5
@®n=502 o, S(n) = Vsl -1

®n=994 W, S(n)=10-1=9
m2tA O, @, @, ®7F "ot




15. oA (a2 -4) (x? - 2x - 3)-21 S ASEAPS O, S F

27
@x2—x+1 @ *+x-1 @ x*-2x-1
@ x2-x+3 ® x2-x+9

A-6)(A-2)-21=A%2-8A+12-21
=A?2-8A-9
—(A-9)(A+1)
= (x2—x—9) (xz—x—}—l)




